S QRALARI D}

I ﬂéé FAE MAS St MY S (Sl LA/ - 0E)
ctelr et AaDlet x4 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
FAl AR 1t 9,369,023 24,571,071 15,202,048
= 2,881,500
== 6,487,523
4:’:%}7%0?‘—&)*% dats SEH MM SH(sHolLa/H Y 9,336,385 24,544,375 15,207,990
POYNE
= 2,881,500
== 6,454,885
SlEd a8t & 517,785 1,741,355 A1,223,570
= 235,500
== 282,285
BB ES(SIEEBE)(21) 79,200 137,500 /58,300
= 72,000
= 7,200
403 AXIEHMSAH=201d 79,200 137,500 58,300
= 72,000
= 7,200
01 AR A =2 £ 79,200 137,500 /58,300
OslEEE 25 79,200
= 72,000
=S 7,200
IERHEEZ(21) 64,285 39,960 24,325
= 50,000
< 14,285
403 MR EHMSAHE01H 64,285 39,960 24,325
= 50,000
= 14,285
01 AXIEHM A= E £ 64,285 39,960 24,325
OLIsRHEES 64,285
= 50,000
= 14,285
B AE HIEAIR RZEMH(=1) 42,500 29,59 12,905
= 42,500
308 AHAIEHMSOIE 42,500 29,59 12,905
= 42,500
01 HRHHBAEES 42,500 29,59 12,905
OzIEE =4S HIEALE ZEN 41,780
= 41,780
OEI+LE AR HEM(ZEHI) 720
= 720
=2 U8 N&(212) 71,000 100,000 229,000
= 71,000
403 AXIEHMSAH=201d 71,000 100,000 229,000
= 71,000
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A YA
U DRI SMS MAS S5 MY SH(SPHSS/HSLM - 0F)
el AR Y 2 2l (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOl 45,000 45,000
01 XN B2 LS 45,000 45,000
O=JtAtel ==0HAL 45,000
403 AXIEHMSAH=0ld 1,096,000 947,400 148,600
01 AXIHHA= 2L 1,096,000 947,400 148,600
ORslxF A= 108,000
OB AA MHE xd 360,000
O &St &4 442,000
oRgdol S Ae XN 6,000
OEF HFSFN Jdz= AMd 75 180,000
FMME MRMAT ZH(SIEEXY) 720,000 720,000
403 AXIEHMSA=01d 720,000 720,000
01 HAIHHA 22X 720,000 720,000
O=btlE MM £d 720,000
FAS Y SR (D EALY) 1,174,000 1,162,140 11,860
308 XXM SOIA 1,174,000 1,162,140 11,860
01 AXNBEES 1,174,000 995,400 178,600
OB YZ(HE) 1,174,000
HiCts R4 (HEAY) 720,000 720,000 0
403 MR HHMSAHE01H 720,000 720,000
01 AXISHHA 22 £ 720,000 720,000
Obtlts =& (HE) 720,000
SIS M (=12) 40,000 10,000 30,000
= 40,000
403 MR SHHMSAH=01H 40,000 10,000 30,000
= 40,000
01 AXIE A= 2 £ 40,000 10,000 30,000
Oolmtel <Al 40,000
= 40,000
HiCt= ZE(IHAEXLH) 28,200 11,280 16,920
403 AXIEHHSA=201H 28,200 11,280 16,920
01 AXIEHM A= E £ 28,200 11,280 16,920
Otttz =4 28,200
w42 JIX B8 4,875,100 4,165,900 709,200
= 2,606,000
== 2,269,100
SR Z - X XA (=2 1) 1,200,000 1,200,000 0
= 600,000
< 600,000
307 gl2to| & 1,200,000 1,200,000 0
= 600,000
= 600,000
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